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EEH (A) % EEH (A) % EEH (A) % EEH (A) % EEH (A) % EEH (A) %
BE 1 Z5EMESIFHL, FAEFITOTONLLIBRENTHOI TN, 181| 240/ 400, 53.1 108 143 29 338 36 48/ 754/ 100.0
BE 2:BREPEFLEOTF—LEDEESTHA TS, 229/ 30.4| 348/ 462| 105 139 44 5.8 28 37 754/ 100.0
BE 3 ERBEZEICAGENGIEENTHhA TS, 314| 416 351 466 47 6.2 14 1.9 28 37 754/ 100.0
Bl 4:HEONIAST—HBEGEZITHBRITIEL TS HFIATETLNS, 254/ 337 331| 439 56 7.4 16 2.1 97| 129/ 754/ 100.0
B 5 EEBIEERICITHA TS, 381 505 267 354 32| 42 5 07 69| 92| 754/ 1000
B 6 RAIERZEEELBE (TV/74—FL-THTIVILE—0 v T - AZFERELRE) [2OYRNEL-E TS, 231| 306 319 423 7 9.4 27 36/ 106/ 141 754/ 100.0
B 7 EFRTELPEESFBTERITTHOATNS, 312 414 310 411 65 8.6 24 32 43 57| 754/ 100.0
B 8 BEALGVLHDRHFERICRVBA TS, 166/ 220/ 277| 367 108 143 62 82 141| 187 754/ 100.0
BE 9 REPLTTVUREEDEELRIFETBHIA TS, 175 232| 316/ 419 119 158/ 100 13.3 44 5.8/ 754/ 100.0
BE10: KF - FEHOBE S EOERAZIEIONATNS, 239| 317 352| 46.7 43 5.7 15 20| 105/ 139| 754/ 1000
BRI 2ZROBRLZERYLGEDRFTY L A—NGEICL>THIARALN TS, 279| 370 344| 456 48 6.4 16 2.1 67 89 754/ 100.0
B12: FRAEFFTEELTND, 295/ 39.1| 341 452 60 8.0 32 42 26 34| 754/ 100.0
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PR T BTN TN T B N T N T
B 1 ZSBHESIFHL. FAERITDTLADLIEBEITHN TS, 88| 19.4| 274 605 34 15 5 1.1 52| 115 453 100.0
B 2:BREPEFLOIF—LHEDEBENTHN TS, 90| 199 276/ 609 34 15 6 1.3 47| 104 453| 100.0
BE 3 ERBEZEICAGENGIEENTHhA TS, 137| 30.2| 250/ 552 25 55 4 0.9 37 82| 453 100.0
B 4:BEOH ISR ELGEESITHBITIEL TN A ARHEILN TETS, 142|  31.3| 202| 446 20 44 4 0.9 85 188 453| 100.0
B 5:EIEEBEERITTOATINS, 206| 455 176| 389 13 2.9 6 1.3 52| 115 453 100.0
B 6 RIAIERZEEELLE (TI/ 74— L THATIVIAL A=y T - AFFIEBELE) IZPYHNEL-E TS, 131 289 198 437 25 55 6 1.3 93| 205/ 453 100.0
Bl 7 5ERUERTECEERFTINHD. 154/ 340/ 249 550 19 42 1 0.2 30 6.6 453 100.0
BiE 8:AEMLVLHORERRICRYEATNS, 55/ 121 208| 459 35 1.7 9 20 146| 322| 453 100.0
B 9 REPLTTIVRLGEDHEER LR MBIIBHBIN TS, 72| 159 236| 52.1 46| 102 11 24 88| 194 453 1000
BE10: REHBIRAT LEE  KEF-FEROMEHITHLN TS, 76| 16.8| 193] 426 37 8.2 4 09| 143| 316/ 453 1000
BRI EROBRIFEFEYGEDRAYOA—NGEII>THYUREZDN TS, 218 481 199| 439 28 6.2 5 1.1 3 0.7| 453 100.0
B12: R—LR—VF RO, BYAFERN BRI TN, 150/ 33.1| 247 545 14 3.1 2 0.4 40 88| 453 100.0
13 BREFEFTELTLS, 180/ 39.7| 235 519 22 49 5 1.1 11 2.4/ 453 100.0
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BEEH (A) % BEEH (A) % BEEH (A) % BEEH (A) % BEEH (A) % BEEH (A) %
B 1 ZSBHESIFHL. FAERITDTLADLIEBEITHN TS, 11 120 7 712 7 7.6 0 0.0 3 33 92| 100.0
B 2:BREPEFLOIF—LHEDEBENTHN TS, 15| 163 55| 598 16| 174 5 5.4 1 1.1 92| 100.0
B 3 ERBEZICAT-#EYLEENTHhh TS, 20| 217 58| 63.0 7 7.6 1 1.1 6 6.5 92| 100.0
B 4:BEOH ISR ELGEESITHBITIEL TN A ARHEILN TETS, 44| 478 40| 435 2 2.2 1 1.1 5 5.4 92| 100.0
B 5:EIEEBEERITTOATINS, 28| 304 48| 522 11 120 2 2.2 3 33 92| 100.0
B 6 RIAIERZEEELLE (TI/ 74— L THATIVIAL A=y T - AFFIEBELE) IZPYHNEL-E TS, 25| 212 50| 543 7 7.6 4 43 6 6.5 92| 100.0
Bl 7 B5ERUERTECEERFTINHD. 31| 337 53| 576 3 33 2 2.2 3 33 92| 100.0
BiE 8:AENLLLHORERRICRYEATNS, 25| 272 55| 598 6 6.5 1 1.1 5 5.4 92| 100.0
BE 9:REPLTIVURGE DR BEERIN TS, 11 120 30| 326 32| 348 16| 174 3 33 92| 100.0
B10: KF-FEROBBS ZCERSTEIEAONTID, 19| 207 53| 576 12| 130 2 2.2 6 6.5 92| 100.0
B EROBRIFEFEYLEDRAYOA—NGEICI>THYUREZDN TS, 34| 370 51| 55.4 4 43 0 0.0 3 33 92| 100.0
BE12: R—LR—DII BP9 BEERIMBREINA TS, 33| 359 50| 54.3 3 33 0 0.0 6 6.5 92| 100.0
B3 BREFEFEELTLS, 17| 185 65| 70.7 4 43 0 0.0 6 6.5 92| 100.0
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